

NEW TAUBERIAN THEOREMS FOR CESÀRO SUMMABLE TRIPLE SEQUENCES OF FUZZY NUMBERS

CARLOS GRANADOS¹, AJAY KANTI DAS², AND SUMAN DAS³

ABSTRACT. The purpose of this paper is to establish new results on Tauberian theorem for Cesàro summability of triple sequences of fuzzy numbers. Besides, we extend and unify several results in the available literature. Furthermore, a huge number of special cases, theorems and their implications are proved. We show some illustrative examples in support of the results obtained in this paper.

1. INTRODUCTION

The notion of the fuzzy set was originally introduced by Zadeh [23]. Later, Matloka [11] established bounded and convergent sequences of fuzzy numbers and proved that every convergent sequence is bounded. Then, Nanda [12] studied the spaces of bounded and convergent sequences of fuzzy numbers and proved that every Cauchy sequence of fuzzy numbers is convergent. Subrahmanyam [14] presented the notion of Cesàro summability of sequences of fuzzy numbers and established Tauberian hypotheses identified with the Cesàro summability method. Talo and Çanak [15] introduced the necessary and sufficient Tauberian conditions, under which convergence follows from Cesàro convergence of sequences of fuzzy numbers. Altın et al. [1] studied the concept of statistical summability by $(C, 1)$ -mean for sequences of fuzzy numbers and obtained a Tauberian theorem on that basis. Talo and Başar [16] introduced the concept of slow decreasing sequence for fuzzy numbers and have proved that Cesàro summable sequence (X_n) is convergent, if (X_n) is slowly decreasing. Çanak [3] established the concept of the slow oscillation (that is, both slowly decreasing and

Key words and phrases. Triple Cesàro summability, slow oscillation, Tauberian condition, sequence of fuzzy numbers.

2020 *Mathematics Subject Classification.* Primary: 40G05. Secondary: 40E05.

DOI 10.46793/KgJMat2405.787G

Received: May 31, 2021.

Accepted: September 02, 2021.

slowly increasing) sequences for fuzzy numbers and proved that Cesàro summable sequence (X_n) is convergent if (X_n) is slowly oscillating. Later on, many researchers have investigated on sequences and sequences of fuzzy numbers for proving Tauberian theorems. Different classes of sequences and sequences of fuzzy numbers have been presented and studied by Tripathy et al. [22], Dutta [4], Dutta [5], Dutta and Bilgin [6], Tripathy and Debnath [21], Dutta and Başar [7], Jena et al. [9], Jena et al. [10] and many others. Çanak [3] introduced Tauberian theorem for Cesàro summability of sequences of fuzzy numbers. Later on, Jena et al. [8] proved some Tauberian theorems on Cesàro summable double sequences of fuzzy numbers and proved some interesting results. The reader can refer to the monograph [2] and the papers [17–19] and [20] on the classical sequence spaces and related topics. Motivated by the above-mentioned works, in this paper we present the notion of $((C, 1, 1, 1)X)$ -summability of a triple sequences of fuzzy numbers defined in Definition 2.11. This paper is organized in two principal parts. In the first one, we provide the necessary definitions which are useful for the development of this paper, and the second one, we show theorems, lemmas and corollaries that we obtained.

2. NOTATIONS AND DEFINITIONS

In this section, we recall some well-know notions which are useful for the developing of this paper. Besides, we define some new notions on Cesàro means $(C, 1, 1, 1)$ of triple sequences (X_{mng}) of fuzzy numbers.

Definition 2.1. Let D denote the set of all closed and bounded intervals $X = [x_1, x_2]$ on the real line \mathbb{R} . For $X, Y \in D$, we define

$$d(X, Y) = \max\{|x_1 - y_1|, |x_2 - y_2|\},$$

where $X = [x_1, x_2]$ and $Y = [y_1, y_2]$

Remark 2.1. It is known that (D, d) is a complete metric space.

Definition 2.2. A fuzzy number X is a fuzzy set on \mathbb{R} and is a mapping $X : \mathbb{R} \rightarrow [0, 1]$ associating each number t with its grade of membership $X(t)$.

Definition 2.3. A fuzzy number X is said to be convex if,

$$X(t) = \min\{X(s), X(r)\}, \quad s < t < r.$$

Definition 2.4. If there exists $t_0 \in \mathbb{R}$, such that $X(t_0) = 1$, then the fuzzy number X is called normal. Besides, a fuzzy number X is said to be upper semi-continuous if, for each $X^{-1}([0, x + \varepsilon])$ for all $x \in (0, 1)$, is open in the usual topology of \mathbb{R} . The set of all upper semicontinuous, normal, convex fuzzy numbers is denoted by $\mathbb{R}([0, 1])$. For $\alpha \in (0, 1]$, α -level set X^α of fuzzy number X is defined by

$$X^\alpha = \{t \in \mathbb{R} : X(t) \geq \alpha\}.$$

Definition 2.5. The set X^0 is defined as the closure of the following set $\{t \in \mathbb{R} : X(t) > 0\}$. We define $\bar{d} : \mathbb{R}([0, 1]) \times \mathbb{R}([0, 1]) \rightarrow \mathbb{R}_+ \cup \{0\}$, by

$$\bar{d}(X, Y) = \sup_{0 \leq \alpha \leq 1} d(X^\alpha, Y^\alpha).$$

Definition 2.6. A triple sequence (X_{mng}) of fuzzy numbers is a function $X : \mathbb{N} \cup \{0\} \times \mathbb{N} \cup \{0\} \times \mathbb{N} \cup \{0\} \rightarrow \mathbb{R}([0, 1])$ and is said to be convergent to a fuzzy number X_0 if, for every $\varepsilon > 0$, there exists a positive integer n_0 such that

$$\bar{d}(X_{mng}, X_0) < \varepsilon, \quad \text{as } m, n, g \geq n_0.$$

Remark 2.2. We will denote

$$\begin{aligned} \Delta_n X_{mng} &= \bar{d}(X_{mng}, X_{m,n-1,g}), \\ \Delta_m X_{mng} &= \bar{d}(X_{mng}, X_{m-1,n,g}), \\ \Delta_g X_{mng} &= \bar{d}(X_{mng}, X_{m,n,g-1}) \end{aligned}$$

and

$$\Delta_{m,n,g} X_{mng} = \bar{d}(X_{mng}, X_{m-1,n,g}) - \bar{d}(X_{m,n-1,g-1}, X_{m-1,n-1,g-1}), \quad X_{-1} = 0.$$

Definition 2.7. A triple sequence (X_{mng}) of fuzzy numbers is said to be bounded, if there exists a positive number $K > 0$ such that

$$\bar{d}(X_{mng}, X_0) \leq K, \quad \text{as } m, n, g \in \mathbb{N} \cup \{0\}.$$

Definition 2.8. The Cesàro transform $(C, 1, 1, 1)X$ of triple sequences (X_{mng}) of fuzzy numbers is defined by

$$\begin{aligned} (2.1) \quad ((C, 1, 1, 1)X)_{mng} &= \frac{1}{(m+1)(n+1)(g+1)} \sum_{p=0}^m \sum_{q=0}^n \sum_{h=0}^g X_{pqh} \\ &= \sum_{p=0}^m \sum_{q=0}^n \sum_{h=0}^g \frac{Y_{pqh}^{(1,1,1)}}{pqh} + X_{000}. \end{aligned}$$

Analogous to (2.1), we can define the $(C, 1, 0, 0)$ -, $(C, 0, 0, 1)$ - and $(C, 0, 1, 0)$ - transforms of a sequence (X_{mng}) as follows

$$\begin{aligned} (2.2) \quad ((C, 1, 0, 0)X)_{mng} &= \frac{1}{m+1} \sum_{p=0}^m X_{png}, \\ ((C, 0, 1, 0)X)_{mng} &= \frac{1}{n+1} \sum_{q=0}^n X_{mqg}, \\ ((C, 0, 0, 1)X)_{mng} &= \frac{1}{g+1} \sum_{h=0}^g X_{mnh}, \end{aligned}$$

respectively. Additionally, analogues to (2.1) and (2.2), we can define the $(C, 1, 1, 0)$ -, $(C, 0, 1, 1)$ - and $(C, 1, 0, 1)$ -transforms of a sequence (X_{mng}) as follows

$$\begin{aligned} ((C, 1, 1, 0)X)_{mng} &= \frac{1}{(m+1)(n+1)} \sum_{p=0}^m \sum_{q=0}^n X_{pqg}, \\ ((C, 0, 1, 1)X)_{mng} &= \frac{1}{(n+1)(g+1)} \sum_{q=0}^n \sum_{h=0}^g X_{mqh}, \\ ((C, 1, 0, 1)X)_{mng} &= \frac{1}{(m+1)(g+1)} \sum_{p=0}^m \sum_{h=0}^g X_{pmh}, \end{aligned}$$

respectively.

Remark 2.3. A triple sequence $X = (X_{mng})$ of fuzzy numbers is $(C, 1, 1, 1)$ -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(((C, 1, 1, 1)X)_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Similarly, we say that it is $(C, 1, 0, 0)$ -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(((C, 1, 0, 0)X)_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty,$$

$(C, 0, 0, 1)$ -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(((C, 0, 0, 1)X)_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty,$$

and $(C, 0, 1, 0)$ -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(((C, 0, 1, 0)X)_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

We say that it is $(C, 1, 1, 0)$ -summable, $(C, 0, 1, 1)$ -summable and $(C, 1, 0, 1)$ -summable to a fuzzy number L if for every $\varepsilon > 0$ we have $\bar{d}(((C, 1, 1, 0)X)_{mng}, L) < \varepsilon$, $\bar{d}(((C, 0, 1, 1)X)_{mng}, L) < \varepsilon$ and $\bar{d}(((C, 1, 0, 1)X)_{mng}, L) < \varepsilon$ as $m, n, g \rightarrow \infty$, respectively.

Definition 2.9. For each non-negative integers k, r and j , we define $((C, k, j, r)X)_{mng}$ as follows:

$$((C, k, j, r)X)_{mng} = \begin{cases} \frac{1}{(m+1)(n+1)(g+1)} \sum_{p=0}^m \sum_{q=0}^n \sum_{h=0}^g ((C, k-1, j-1, r-1)X)_{phq}, & k, r, j \geq 1, \\ X_{mng}, & k, r, j = 0. \end{cases}$$

Definition 2.10. A triple sequence $X = (X_{mng})$ of fuzzy numbers is said to be (C, k, r, j) -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(((C, k, j, r)X)_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Remark 2.4. If $k = 1, r = 1$ and $j = 1$, then (C, k, r, j) -summability reduces to $(C, 1, 1, 1)$ -summability. Moreover, if $k \neq 0, r = 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, k, 0, 0)$ -summability. If $k = 0, r \neq 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, 0, r, 0)$ -summability. Finally, if $k = 0, r = 0$ and $j \neq 0$, then (C, r, k, j) -summability reduces to $(C, 0, 0, j)$ -summability.

Remark 2.5. Note that, Cesàro summability of $X = (X_{mng})$ refers $(C, 1, 1, 1)$ and (C, k, r, j) -summability of $X = (X_{mng})$.

Remark 2.6. It can also be noted that, the convergence of a triple sequence $X = (X_{mng})$ of fuzzy numbers implies the Cesàro summability of $X = (X_{mng})$, but the converse is not generally true as can be seen in the following example.

Example 2.1. Consider a function $f(a, b, c) = e^{7a} \sin(11b)$. The sequence (X_{mng}) of fuzzy numbers which is the sequence of coefficients in the Taylor’s series expansion of the function $f(a, b, c)$ about origin is Cesàro summable but not convergent. For the proof of converse part, certain conditions are presented in terms of oscillatory behavior of triple sequence $X = (X_{mng})$ of fuzzy numbers.

Definition 2.11. Let us define (X_{mng}) as

$$X_{mng} = Y_{mng}^{(1,1,1)} + \sum_{p=1}^m \sum_{q=1}^n \sum_{h=1}^g \frac{Y_{pqh}^{(1,1,1)}}{pqh} + X_{000}, \quad m, n, g \in \mathbb{N},$$

where

$$\begin{aligned} (2.3) \quad X_{mng} - ((C, 1, 1, 1)X)_{mng} &= Y_{mng}^{(1,1,1)}(\Delta X) \\ &= \frac{1}{(m+1)(n+1)(g+1)} \sum_{p=1}^m \sum_{q=1}^n \sum_{h=1}^g pqh(\Delta_{p,q,h} X_{pqh}). \end{aligned}$$

Further, in analogy to Kronecker identity for a single sequence of fuzzy numbers, we can write

$$(2.4) \quad Y_{mng}^{(1,0,0)}(\Delta X) = \frac{1}{(m+1)} \sum_{p=1}^m p(\Delta_p, X_{png}),$$

$$(2.5) \quad Y_{mng}^{(0,1,0)}(\Delta X) = \frac{1}{(n+1)} \sum_{q=1}^n q(\Delta_q, X_{mqg}),$$

$$(2.6) \quad Y_{mng}^{(0,0,1)}(\Delta X) = \frac{1}{(g+1)} \sum_{h=1}^g h(\Delta_h, X_{mnh}),$$

as the $(C, 1, 0, 0)$ -mean of the sequence $(m\Delta_m X_{mng})$ of fuzzy numbers, $(C, 0, 1, 0)$ -mean of the sequence $(n\Delta_n X_{mng})$ of fuzzy numbers and $(C, 0, 0, 1)$ -mean of the sequence $(g\Delta_g X_{mng})$ of fuzzy numbers, respectively.

We define $Y_{mng}^{(1,1,0)}$, $Y_{mng}^{(1,0,1)}$ and $Y_{mng}^{(0,1,1)}$ in the similar manner to (2.4), (2.5) and (2.6)

Remark 2.7. Since the sequence $Y_{mng}^{(1,1,1)}(\Delta_{mng}X_{mng})$ of fuzzy numbers is the $(C, 1, 1, 1)$ -mean of the sequence $mng(\Delta_{mng}X_{mng})$ of fuzzy number, the sequence $mng(\Delta_{mng}X_{mng})$ is $(C, 1, 1, 1)$ -summable to a fuzzy number L , whenever

$$\bar{d}(Y_{mng}^{(1,1,1)}(\Delta_{mng}X_{mng}), L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Definition 2.12. For each non-negative integers k, r and j , we define $Y_{mng}^{(k,r,j)}$ as follows:

$$Y_{mng}^{(k,r,j)} = \begin{cases} \frac{1}{(m+1)(n+1)(g+1)} \sum_{p=0}^m \sum_{q=0}^n \sum_{h=0}^g Y_{pqh}^{(k-1,r-1,j-1)}, & k, r, j \geq 1, \\ mng(\Delta_{mng}X_{mng}), & k, r, j = 0. \end{cases}$$

Definition 2.13. The sequence $mng(\Delta_{mng}X_{mng})$ of fuzzy numbers is said to be (C, k, r, j) -summable to a fuzzy number L if for every $\varepsilon > 0$, we have

$$\bar{d}(Y_{mng}^{krj}(\Delta_{mng}X_{mng}), L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Remark 2.8. If $k = 1, r = 1$ and $j = 1$, then (C, k, r, j) -summability reduces to $(C, 1, 1, 1)$ -summability. Moreover, if $k \neq 0, r = 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, k, 0, 0)$ -summability. Besides, if $k = 0, r \neq 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, 0, r, 0)$ -summability. For $k = 0, r = 0$ and $j \neq 0$, (C, r, k, j) -summability reduces to $(C, 0, 0, j)$ -summability.

Now, we define the De la Vallée Poussin transform of triple sequence (X_{mng}) of fuzzy numbers for sufficiently large non-negative integers m, n, g for $\lambda > 1$ and $0 < \lambda < 1$

$$\tau_{mng}(X) = \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} X_{ipu}$$

and

$$\tau_{mng}(X) = \frac{1}{(m - [\lambda m])(n - [\lambda n])(g - [\lambda g])} \sum_{i=\lambda m+1}^m \sum_{p=\lambda n+1}^n \sum_{u=\lambda g+1}^g X_{ipu},$$

respectively.

Definition 2.14 ([13]). A single sequence $X = (X_n)$ of fuzzy numbers is slowly oscillating (in the sense of Stanojevic) if

$$\lim_{\lambda \rightarrow 1^+} \limsup_n \max_{n+1 \leq k \leq [\lambda n]} \bar{d}(X_k, X_n) = 0.$$

Similar to Definition 2.14, we will define a triple sequence $X = (X_{mng})$ of fuzzy numbers.

Definition 2.15. A triple sequence $X = (X_{mng})$ of fuzzy numbers is slowly oscillating (in the sense of Stanojević) if

$$\lim_{\lambda \rightarrow 1^+} \limsup_{m,n,g} \max_{\substack{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]}} \bar{d} \left(\sum_{a=m+1}^i \sum_{b=m+1}^p \sum_{v=+1}^u \Delta_{a,b,v} X_{a,b,v}, 0 \right) \leq \varepsilon.$$

3. MAIN RESULTS

Lemma 3.1. *A triple sequence $X = (X_{mng})$ of fuzzy numbers is slowly oscillating if and only if $(Y_{mng}^{(1,1,1)})$ is slowly oscillating and bounded.*

Proof. Let $X = (X_{mng})$ be a slowly oscillation triple sequence. First of all, let us show that $\bar{d}(V_{mng}^{(1,1,1)}, 0) = O(1)$.

We have by definition of slow oscillation, for $\lambda > 1$,

$$\lim_{\lambda \rightarrow 1^+} \limsup_{m,n,g} \max_{m+1, n+1, g+1 \leq i,p,u \leq [\lambda m, \lambda n, \lambda g]} \bar{d} \left(\sum_{a=m+1}^i \sum_{b=m+1}^p \sum_{v=+1}^u \Delta_{a,b,v} X_{a,b,v}, 0 \right) \leq \varepsilon$$

and let us rewrite the finite sum $\sum_{i=1}^m \sum_{p=1}^n \sum_{u=1}^g ipu \Delta X_{ipu}$ as the series

$$\sum_{a=0}^{\infty} \sum_{b=0}^{\infty} \sum_{v=0}^{\infty} \frac{m}{2^a + 1} \frac{n}{2^b + 1} \frac{g}{2^v + 1} \sum_{\substack{i,p,u \leq \\ \frac{m}{2^a}, \frac{n}{2^b}, \frac{g}{2^v}}} ipu \Delta X_{ipu}.$$

Clearly,

$$\begin{aligned} & \bar{d} \left(\sum_{i=1}^m \sum_{p=1}^n \sum_{u=1}^g ipu \Delta X_{ipu}, 0 \right) \\ & \leq \bar{d} \left(\sum_{a=0}^{\infty} \sum_{b=0}^{\infty} \sum_{v=0}^{\infty} \frac{m}{2^a + 1} \frac{n}{2^b + 1} \frac{g}{2^v + 1} \sum_{\substack{i,p,u \leq \\ \frac{m}{2^a}, \frac{n}{2^b}, \frac{g}{2^v}}} ipu \Delta X_{ipu}, 0 \right) \\ & \leq \bar{d} \left(\sum_{a=0}^{\infty} \sum_{b=0}^{\infty} \sum_{v=0}^{\infty} \frac{mng}{2^{a+n+v}}, 0 \right) \end{aligned}$$

and

$$\begin{aligned} & \frac{m}{2^a + 1} \frac{n}{2^b + 1} \frac{g}{2^v + 1} \sum_{\substack{i,p,u \leq \\ \frac{\lambda m}{2^{i+1}}, \frac{\lambda n}{2^{p+1}}, \frac{\lambda g}{2^{u+1}}}} \\ & \bar{d} \left(\sum_{a=\frac{i}{m}+1}^i \sum_{b=\frac{p}{n}+1}^p \sum_{v=\frac{u}{g}+1}^u \Delta_{a,b,v} X_{a,b,v}, 0 \right) \\ & \leq mngC \left(\sum_{a=0}^{\infty} \sum_{b=0}^{\infty} \sum_{v=0}^{\infty} \frac{1}{2^{a+b+v}} \right) = mngC^*, \quad C^* > 0. \end{aligned}$$

Therefore, we have

$$\begin{aligned} \bar{d}(Y_{mng}^{(1,1,1)}(\Delta X), 0) &= \bar{d}\left(\frac{1}{(m+1)(n+1)(g+1)} \sum_{p=0}^m \sum_{q=0}^n \sum_{h=0}^g pqh(\Delta_{p,q,h} X_{p,q,h}), 0\right) \\ &= O(1), \quad \text{as } m, n, g \rightarrow \infty. \end{aligned}$$

Since

$$\left\{ ((C, 1, 1, 1)X)_{mng} = \sum_{p=1}^m \sum_{q=1}^n \sum_{h=1}^g \frac{Y_{pqh}^{(1,1,1)}}{pqh} + X_{000} \right\}$$

is slowly oscillating, hence, $(Y_{mng}^{(1,1,1)})$ is slowly oscillating.

Now, to prove the converse part, consider $(Y_{mng}^{(1,1,1)})$ is bounded and slowly oscillating. Thus, the boundedness of $(Y_{mng}^{(1,1,1)})$ implies that $((C, 1, 1, 1)X)_{mng}$ is slowly oscillating. Moreover, $(Y_{mng}^{(1,1,1)})$ being oscillating slowly, so by Kronecker identity (2.3), (X_{mng}) is oscillating slowly. \square

Lemma 3.2. *Let $X = (X_{mng})$ be a triple sequence of fuzzy numbers with m, n sufficiently large, then the following statements hold.*

(a) For $\lambda > 1$

(3.1)

$$\begin{aligned} &\bar{d}(X_{mng}, ((C, 1, 1, 1)X)_{mng}) \\ &= \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \left\{ \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{[\lambda m], n, g}) \right. \\ &\quad \left. - \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{mng}) \right\} \\ &\quad + \frac{[\lambda m] + 1}{([\lambda n] - m)([\lambda g] - m)} \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], n, g}, ((C, 1, 1, 1)X)_{m, n, g}) \\ &\quad + \frac{[\lambda n] + 1}{([\lambda m] - n)([\lambda g] - n)} \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], g}, ((C, 1, 1, 1)X)_{m, n, g}) \\ &\quad + \frac{[\lambda g] + 1}{([\lambda m] - g)([\lambda n] - g)} \bar{d}(((C, 1, 1, 1)X)_{m, n, [\lambda g]}, ((C, 1, 1, 1)X)_{m, n, g}(X)) \\ &\quad - \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d}\left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (X_{ipu}, X_{mng})\right). \end{aligned}$$

(b) For $0 < \lambda < 1$

$$\begin{aligned} (3.2) \quad &\bar{d}(X_{mng}, ((C, 1, 1, 1)X)_{mng}) \\ &= \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{(m - [\lambda m])(n - [\lambda n])(g - [\lambda g])} \left\{ \bar{d}(((C, 1, 1, 1)X)_{mng}, ((C, 1, 1, 1)X)_{[\lambda m], n, g}) \right. \\ &\quad \left. - \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}) \right\} \end{aligned}$$

$$\begin{aligned}
 & + \frac{[\lambda m] + 1}{(m - [\lambda m])} \bar{d}(((C, 1, 1, 1)X)_{m,n,g}, ((C, 1, 1, 1)X)_{[\lambda m],n,g}) \\
 & + \frac{[\lambda n] + 1}{(n - [\lambda n])} \bar{d}(((C, 1, 1, 1)X)_{m,n,g}, ((C, 1, 1, 1)X)_{m, [\lambda n],g}) \\
 & + \frac{[\lambda g] + 1}{(g - [\lambda g])} \bar{d}(((C, 1, 1, 1)X)_{m,n,g}, ((C, 1, 1, 1)X)_{m,n, [\lambda g]}) \\
 & - \frac{1}{(m - [\lambda m])(n - [\lambda n])(g - [\lambda g])} \bar{d} \left(\sum_{i=[\lambda m]+1}^m \sum_{p=[\lambda n]+1}^n \sum_{u=[\lambda g]+1}^g (X_{mng}, X_{ipu}) \right).
 \end{aligned}$$

Proof. We just prove (3.1), (3.2) by the similar way.

We have by De la Vallée Poussin mean of triple sequence (X_{mng}) of fuzzy numbers

$$\begin{aligned}
 & \tau_{mng}(X) \\
 & = \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} X_{ipu} \\
 & = \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \left\{ \bar{d} \left(\sum_{i=0}^{[\lambda m]} \sum_{i=0}^{[m]} \right) \bar{d} \left(\sum_{p=0}^{[\lambda n]} \sum_{p=0}^{[n]} \right) \bar{d} \left(\sum_{u=0}^{[\lambda g]} \sum_{u=0}^{[g]} \right) \right\} X_{ipu} \\
 & = \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \left\{ \bar{d} \left(\sum_{i=0}^{[\lambda m]} \sum_{p=0}^{[\lambda n]} \sum_{u=0}^{[\lambda g]}, \sum_{i=0}^{[m]} \sum_{p=0}^{[n]} \sum_{u=0}^{[g]} \right) X_{ipu} \right\} \\
 & \quad - \left\{ \bar{d} \left(\sum_{i=0}^{[m]} \sum_{p=0}^{[\lambda n]} \sum_{u=0}^{[\lambda g]}, \sum_{i=0}^m \sum_{p=0}^n \sum_{u=0}^g \right) X_{ipu} \right\} \\
 & = \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \\
 & \quad \{ ([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)((C, 1, 1, 1)X)_{[\lambda m],[\lambda n],[\lambda g]} \\
 & \quad - ([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)((C, 1, 1, 1)X)_{[\lambda m],n,g} \} \\
 & \quad - \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \{ (m + 1)([\lambda n] + 1)([\lambda g] + 1) \\
 & \quad ((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]} - (m + 1)(n + 1)(g + 1)((C, 1, 1, 1)X)_{mng} \} \\
 & = \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} (C, 1, 1, 1)X_{[\lambda m],[\lambda n],[\lambda g]} \\
 & \quad - \left\{ \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} ((C, 1, 1, 1)X)_{[\lambda m],n,g} \right. \\
 & \quad \left. - \frac{([\lambda m] + 1)}{([\lambda m] - m)} ((C, 1, 1, 1)X)_{[\lambda m],n,g} \right\} \\
 & \quad - \left\{ \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} ((C, 1, 1, 1)X)_{m, [\lambda n],g} \right.
 \end{aligned}$$

$$\begin{aligned}
 & - \frac{([\lambda n] + 1)}{([\lambda n] - n)} ((C, 1, 1, 1)X)_{m, [\lambda n], g} \Big\} \\
 & - \left\{ \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} ((C, 1, 1, 1)X)_{m, n, [\lambda g]} \right. \\
 & - \left. \frac{([\lambda g] + 1)}{([\lambda g] - g)} ((C, 1, 1, 1)X)_{m, n, [\lambda g]} \right\} \\
 & + \left\{ \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} ((C, 1, 1, 1)X)_{mng} \right. \\
 & - \frac{([\lambda m] + 1)}{([\lambda m] - m)} ((C, 1, 1, 1)X)_{mng} - \frac{([\lambda n] + 1)}{([\lambda n] - n)} ((C, 1, 1, 1)X)_{mng} \\
 & \left. - \frac{([\lambda g] + 1)}{([\lambda g] - g)} ((C, 1, 1, 1)X)_{mng} + ((C, 1, 1, 1)X)_{mng} \right\},
 \end{aligned}$$

which implies

$$\begin{aligned}
 & \tau_{mng} - ((C, 1, 1, 1)X)_{mng} \\
 & = \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \{ \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}, \\
 & ((C, 1, 1, 1)X)_{[\lambda m], n, g}) - \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{m, n, g}) \} \\
 & + \frac{([\lambda m] + 1)}{([\lambda m] - m)} \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], n, g}, (C, 1, 1, 1)X)_{mng}) \\
 & + \frac{([\lambda n] + 1)}{([\lambda n] - n)} \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], g}, ((C, 1, 1, 1), X)_{mng}) \\
 & + \frac{([\lambda g] + 1)}{([\lambda g] - g)} \bar{d}(((C, 1, 1, 1)X)_{m, n, [\lambda g]}, ((C, 1, 1, 1)X)_{mng}).
 \end{aligned}$$

Besides,

$$X_{mng} = \tau_{mng} - \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (X_{ipu}, X_{mng}) \right).$$

On subtracting $(((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]})$ from the above identity, we have

$$\begin{aligned}
 & \bar{d}(X_{mng}, ((C, 1, 1, 1)X)_{mng}) \\
 & = \bar{d}(\tau_{mng}(X), ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}) \\
 & - \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (X_{ipu}, X_{mng}) \right) \\
 & = \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \{ \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{[\lambda m], n, g}) \\
 & - \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]}, ((C, 1, 1, 1)X)_{mng}) \}
 \end{aligned}$$

$$\begin{aligned}
 &+ \frac{[\lambda m] + 1}{([\lambda n] - m)([\lambda g] - m)} \bar{d}(((C, 1, 1, 1)X)_{[\lambda m],n,g}, ((C, 1, 1, 1)X)_{m,n,g}) \\
 &+ \frac{[\lambda n] + 1}{([\lambda m] - n)([\lambda g] - n)} \bar{d}(((C, 1, 1, 1)X)_{m,[\lambda n],g}, ((C, 1, 1, 1)X)_{m,n,g}) \\
 &+ \frac{[\lambda g] + 1}{([\lambda m] - g)([\lambda n] - g)} \bar{d}(((C, 1, 1, 1)X)_{m,n,[\lambda g]}, ((C, 1, 1, 1)X)_{m,n,g}) \\
 &- \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (X_{ipu}, X_{mng}) \right). \quad \square
 \end{aligned}$$

Theorem 3.1. *If a triple sequence (X_{mng}) of fuzzy number is $(C, 1, 1, 1)$ -summable to a fuzzy number L and (X_{mng}) is slowly oscillating (in the sense of Stanojević), then*

$$\bar{d}(X_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Proof. Let (X_{mng}) be $(C, 1, 1, 1)$ -summable to a fuzzy number L , this implies $\sigma_{mng}^{(1,1,1)}$ is $(C, 1, 1, 1)$ -summable to a fuzzy number L . Now, from (2.3), we have $(Y_{mng}^{(1,1,1)})$ is $(C, 1, 1, 1)$ -summable to zero. Hence, by Lemma 3.1, $(Y_{mng}^{(1,1,1)})$ is slowly oscillating. Additionally, by Lemma 3.2 part (a), we obtain

$$\begin{aligned}
 (3.3) \quad &\bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)})) \\
 &= \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \{ \bar{d}(((C, 1, 1, 1)X)_{[\lambda m],[\lambda n],[\lambda g]}(Y_{mng}^{(1,1,1)}), \\
 &\quad ((C, 1, 1, 1)X)_{[\lambda m],n,g}(Y_{mng}^{(1,1,1)})) \\
 &\quad - \bar{d}(((C, 1, 1, 1)X)_{m,[\lambda n],[\lambda g]}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)})) \} \\
 &+ \frac{[\lambda m] + 1}{([\lambda n] - m)([\lambda g] - m)} \bar{d}(((C, 1, 1, 1)X)_{[\lambda m],n,g}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\
 &+ \frac{[\lambda n] + 1}{([\lambda m] - n)([\lambda g] - n)} \bar{d}(((C, 1, 1, 1)X)_{m,[\lambda n],g}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\
 &+ \frac{[\lambda g] + 1}{([\lambda m] - g)([\lambda n] - g)} \bar{d}(((C, 1, 1, 1)X)_{m,n,[\lambda g]}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\
 &- \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y_{ipu}^{(1,1,1)}, Y_{mng}^{(1,1,1)}) \right).
 \end{aligned}$$

It is easy to verify that for $\lambda > 1$ and sufficiently large n and g

$$\begin{aligned}
 \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} &< \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - 1 - m)([\lambda n] - 1 - n)([\lambda g] - 1 - g)} \\
 &< \frac{9\lambda^3}{(\lambda - 1)^3}.
 \end{aligned}$$

Now, by (3.3),

$$\bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)}))$$

$$\leq \frac{9\lambda^3}{(\lambda - 1)^3} \bar{d}(\tau_{mng}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}(Y_{mng}))$$

$$- \max_{\substack{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]}} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y_{ipu}^{(1,1,1)}, Y_{mng}^{(1,1,1)}) \right).$$

Taking lim sup on both sides in the above inequality, we have

$$\limsup_{m, n, g} \bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)}))$$

$$\leq \frac{9\lambda^3}{(\lambda - 1)^3} \limsup_{m, n, g} \bar{d}(\tau_{mng}(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}(Y_{mng}^{(1,1,1)}))$$

$$- \limsup_{m, n, g} \max_{\substack{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]}} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y_{ipu}^{(1,1,1)}, Y_{mng}^{(1,1,1)}) \right).$$

Moreover, $((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}(Y_{mng}^{(1,1,1)}) \rightarrow 0$ as $m, n, g \rightarrow \infty$, so first term on the right hand side of above inequality, must vanish. This implies,

$$(3.4) \quad \limsup_{m, n, g} \bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)}))$$

$$\leq \limsup_{m, n, g} \max_{\substack{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]}} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y_{ipu}^{(1,1,1)}, Y_{mng}^{(1,1,1)}) \right).$$

As $\lambda \rightarrow 1^+$ in (3.4), thus we have

$$\limsup_{m, n, g} \bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)})) \leq 0.$$

This implies $\bar{d}(Y_{mng}^{(1,1,1)}, 0) < \varepsilon$ as $m, n, g \rightarrow \infty$. Since (X_{mng}) is summable to a fuzzy number L by $(C, 1, 1, 1)$ mean and $\bar{d}(Y_{mng}^{(1,1,1)}, 0) < \varepsilon$ as $m, n, g \rightarrow \infty$, thus $\bar{d}(X_{mng}, L) < \varepsilon, m, n, g \rightarrow \infty$. □

Corollary 3.1. *If (X_{mng}) is (C, k, r, j) -summable to a fuzzy number L and (X_{mng}) is slowly oscillating (in the sense of Stanojević), then*

$$\bar{d}(X_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Proof. Let $X = (X_{mng})$ be slowly oscillating. Then, $((C, k, r, j)X)$ is slowly oscillating by Lemma 3.1. Furthermore, since $X = (X_{mng})$ is (C, k, r, j) -summable to a fuzzy number L , we have by Theorem 3.1 that

$$(3.5) \quad \bar{d}(((C, k, r, j)X)_{mng}, L) < \varepsilon \quad \text{as } m, n, g \rightarrow \infty.$$

Now, from the definition,

$$(3.6) \quad ((C, k, r, j)X)_{mng} = ((C, 1, 1, 1)X)_{mng}(((C, k - 1, r - 1, j - 1)X)_{mng}).$$

It is clear that (3.5) and (3.6) imply $X = (X_{mng})$ is $(C, k - 1, r - 1, j - 1)$ -summable to a fuzzy number L . Thus, $(((C, k - 1, r - 1, j - 1)X)_{mng})$ is slowly oscillating by Lemma

3.1. Therefore, by Theorem 3.1, we have $\bar{d}(((C, k - 1, r - 1, j - 1)X)_{mng}, L) < \varepsilon$ as $m, n, g \rightarrow \infty$. Continuing in this way, we get $\bar{d}(X_{mng}, L) < \varepsilon$ as $m, n, g \rightarrow \infty$. \square

Remark 3.1. If $k \neq 0, r = 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, k, 0, 0)$ -summability. Besides, if $k = 0, r \neq 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, 0, r, 0)$ -summability. Finally, if $k = 0, r = 0$ and $j \neq 0$, then (C, r, k, j) -summability reduces to $(C, 0, 0, j)$ -summability.

Theorem 3.2. *If a triple sequence (X_{mng}) of fuzzy number is $(C, 1, 1, 1)$ -summable to a fuzzy number L and $Y_{mng}^{(1,1,1)}(\Delta_{mng}X_{mng})$ is slowly oscillating, then*

$$\bar{d}(X_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Proof. Since (X_{mng}) is $(C, 1, 1, 1)$ -summable to a fuzzy number L , so $((C, 1, 1, 1)X)_{mng}$ is $(C, 1, 1, 1)$ -summable to a fuzzy number L . Hence, $(Y_{mng}^{(1,1,1)})$ is $(C, 1, 1, 1)$ -summable to zero by (2.3). Using identity (2.3) to $(Y_{mng}^{(1,1,1)})$ we have $Y(Y_{mng}^{(1,1,1)})$ is Cesàro summable to zero. This means that $Y(Y_{mng}^{(1,1,1)})$ is slowly oscillating by Lemma 3.1. Now, by Lemma 3.2 part (a), we get

$$\begin{aligned} (3.7) \quad & \bar{d}(Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}Y(Y_{mng}^{(1,1,1)})) \\ &= \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \{ \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]}Y(Y_{mng}^{(1,1,1)}), \\ & \quad ((C, 1, 1, 1)X)_{[\lambda m], n, g}Y(Y_{mng}^{(1,1,1)})) \\ & \quad - \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], [\lambda g]}Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}Y(Y_{mng}^{(1,1,1)})) \} \\ &+ \frac{[\lambda m] + 1}{([\lambda n] - m)([\lambda g] - m)} \bar{d}(((C, 1, 1, 1)X)_{[\lambda m], n, g}Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\ &+ \frac{[\lambda n] + 1}{([\lambda m] - n)([\lambda g] - n)} \bar{d}(((C, 1, 1, 1)X)_{m, [\lambda n], g}Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\ &+ \frac{[\lambda g] + 1}{([\lambda m] - g)([\lambda n] - g)} \bar{d}(\sigma_{m, n, [\lambda g]}^{(1,1,1)}Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}) \\ &- \frac{1}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} Y(Y_{ipu}^{(1,1,1)}), Y_{mng}^{(1,1,1)} \right). \end{aligned}$$

It is easy to verify that for $\lambda > 1$ and sufficiently large n and g

$$\begin{aligned} \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - m)([\lambda n] - n)([\lambda g] - g)} &< \frac{([\lambda m] + 1)([\lambda n] + 1)([\lambda g] + 1)}{([\lambda m] - 1 - m)([\lambda n] - 1 - n)([\lambda g] - 1 - g)} \\ &< \frac{9\lambda^3}{(\lambda - 1)^3}. \end{aligned}$$

Now, by (3.7),

$$\bar{d}(Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng}Y(Y_{mng}^{(1,1,1)}))$$

$$\leq \frac{9\lambda^3}{(\lambda - 1)^3} \bar{d}(\tau_{mng} Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]} Y(Y_{mng})) \\ - \max_{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y(Y_{ipu}^{(1,1,1)}), Y(Y_{mng}^{(1,1,1)})) \right).$$

Taking lim sup on both sides in the above inequality, we have

$$\limsup_{m, n, g} \bar{d}(Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng} Y(Y_{mng}^{(1,1,1)})) \\ \leq \frac{9\lambda^3}{(\lambda - 1)^3} \limsup_{m, n, g} \bar{d}(\tau_{mng} Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]} Y(Y_{mng}^{(1,1,1)})) \\ - \limsup_{m, n, g} \max_{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y(Y_{ipu}^{(1,1,1)}), Y(Y_{mng}^{(1,1,1)})) \right).$$

Further, $((C, 1, 1, 1)X)_{[\lambda m], [\lambda n], [\lambda g]} Y(Y_{mng}^{(1,1,1)}) \rightarrow 0$ as $m, n, g \rightarrow \infty$, so first term in the right hand side of above inequality, must vanish. This implies

(3.8)

$$\limsup_{m, n, g} \bar{d}(Y_{mng}^{(1,1,1)}, ((C, 1, 1, 1)X)_{mng} Y(Y_{mng}^{(1,1,1)})) \\ \leq \limsup_{m, n, g} \max_{m+1, n+1, g+1 \leq i, p, u \leq [\lambda m], [\lambda n], [\lambda g]} \bar{d} \left(\sum_{i=m+1}^{[\lambda m]} \sum_{p=n+1}^{[\lambda n]} \sum_{u=g+1}^{[\lambda g]} (Y(Y_{ipu}^{(1,1,1)}), Y(Y_{mng}^{(1,1,1)})) \right).$$

Taking $\lambda \rightarrow 1^+$ in (3.8), we have

$$\limsup_{m, n, g} \bar{d}(Y(Y_{mng}^{(1,1,1)}), ((C, 1, 1, 1)X)_{mng} Y(Y_{mng}^{(1,1,1)})) \leq 0,$$

which implies, $\bar{d}(Y(Y_{mng}^{(1,1,1)}), 0) < \varepsilon$ as $m, n, g \rightarrow \infty$. Since (X_{mng}) is summable to a fuzzy number L by $(C, 1, 1, 1)$ mean and $\bar{d}(Y(Y_{mng}^{(1,1,1)}), 0) < \varepsilon$ as $m, n, g \rightarrow \infty$, thus $\bar{d}(X_{mng}, L) < \varepsilon$, as $m, n, g \rightarrow \infty$. \square

Corollary 3.2. *If (X_{mng}) is (C, k, r, j) -summable to a fuzzy number L and $Y_{mng}^{(1,1,1)}(\Delta X)$ is slowly oscillating, then*

$$\bar{d}(X_{mng}, L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Proof. As $Y_{mng}^{(1,1,1)}(\Delta X)$ is slowly oscillating, setting $X = (X_{mng})$ instead of $Y_{mng}^{(1,1,1)}(\Delta X)$, then $((C, k, r, j)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X))$ is slowly oscillating by Lemma 3.1. Moreover, as $Y_{mng}^{(1,1,1)}(\Delta X)$ is (C, k, r, j) -summable to a fuzzy number L , so by Theorem 3.2,

$$(3.9) \quad \bar{d}(((C, k, r, j)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X)), L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

By definition,

$$(3.10) \quad ((C, k, r, j)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X))$$

$$= ((C, 1, 1, 1)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X)) [((C, k-1, r-1, j-1)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X))].$$

From (3.9) and (3.10) we have $Y_{mng}^{(1,1,1)}(\Delta X)$ is $(C, k-1, r-1, j-1)$ -summable to a fuzzy number L . Thus, $((C, k-1, r-1, j-1)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X))$ is slowly oscillating by Lemma 3.1. Therefore, by Theorem 3.1, we have

$$\bar{d}(((C, k-1, r-1, j-1)X)_{mng}(Y_{mng}^{(1,1,1)}(\Delta X)), L) < \varepsilon, \quad \text{as } m, n, g \rightarrow \infty.$$

Continuing this way, we get $\bar{d}((Y_{mng}^{(1,1,1)}(\Delta X)), L) < \varepsilon$ as $m, n, g \rightarrow \infty$. \square

Remark 3.2. If $k \neq 0$, $r = 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, k, 0, 0)$ -summability. Besides, if $k = 0$, $r \neq 0$ and $j = 0$, then (C, r, k, j) -summability reduces to $(C, 0, r, 0)$ -summability. Finally, if $k = 0$, $r = 0$ and $j \neq 0$, then (C, r, k, j) -summability reduces to $(C, 0, 0, j)$ -summability and consequently more corollaries can be generated from the main results of this paper.

Acknowledgements. We thank the anonymous reviewers for their careful reading of our manuscript and their many insightful comments and suggestions which improved the presentation of this paper.

REFERENCES

- [1] Y. Altın, M. Mursaleen and H. Altınok, *Statistical summability $(C, 1)$ for sequences of fuzzy real numbers and a tauberian theorem*, Journal of Intelligent & Fuzzy Systems **21** (2010), 379–384. <https://doi.org/10.3233/IFS-2010-0458>
- [2] F. Başar, *Summability Theory and its Applications*, Bentham Science Publishers, İstanbul, 2012. <https://doi.org/10.2174/97816080545231120101>
- [3] I. Çanak, *Tauberian theorems for Cesàro summability of sequences of fuzzy numbers*, Journal of Intelligent & Fuzzy Systems **27** (2014), 937–942. <https://doi.org/10.3233/IFS-131053>
- [4] H. Dutta, *On some complete metric spaces of strongly summable sequences of fuzzy numbers*, Rend. Semin. Mat. Univ. Politec. Torino **68** (2010), 29–36.
- [5] H. Dutta, *A characterization of the class of statistically pre-Cauchy double sequences of fuzzy numbers*, Appl. Math. Inf. Sci. **7** (2013), 1433–1436. <https://doi.org/10.12785/amis/070423>
- [6] H. Dutta and T. Bilgin, *Strongly $(v^\lambda, a, \delta_{vm}^n, p)$ -summable sequence spaces defined by an Orlicz function*, Appl. Math. Lett. **24** (2011), 1057–1062. <https://doi.org/10.1016/j.aml.2011.01.022>
- [7] H. Dutta and F. Başar, *A generalization of Orlicz sequence spaces by Cesàro mean of order one*, Acta Math. Univ. Comenian. (N.S.) **80** (2011), 185–200.
- [8] B. B. Jena, S. K. Paikray, P. Parida and H. Dutta, *Results on Tauberian theorem for Cesàro summable double sequences of fuzzy numbers*, Kragujevac J. Math. **44**(4) (2020), 495–508. <https://doi.org/10.46793/KgJMat2004.495J>
- [9] B. B. Jena, S. K. Paikray and U. K. Misra, *A Tauberian theorem for double Cesàro summability method*, Int. J. Math. Math. Sci. **2016** (2016), 1–4. <https://doi.org/10.1155/2016/2431010>
- [10] B. B. Jena, S. K. Paikray and U. K. Misra, *Inclusion theorems on general convergence and statistical convergence of $(l, 1, 1)$ -summability using generalized Tauberian conditions*, Tamsui Oxf. J. Inf. Math. Sci. **31** (2017), 101–115.
- [11] M. Matloka, *Sequences of fuzzy numbers*, Busefal **28** (1986), 28–37.
- [12] S. Nanda, *On sequences of fuzzy numbers*, Fuzzy Sets and Systems **33** (1989), 123–126. [https://doi.org/10.1016/0165-0114\(89\)90222-4](https://doi.org/10.1016/0165-0114(89)90222-4)

- [13] C. V. Stanojević, *Analysis of divergence control and management of divergent process*, in: I. Çanak (Ed.), *Graduate Research Seminar Lecture Notes*, University of Missouri-Rolla, Missouri, Fall, 1998.
- [14] P. V. Subrahmanyam, *Cesàro summability of fuzzy real numbers*, *J. Anal.* **7** (1999), 159–168.
- [15] Ö. Talo and C. Çanak, *On the Cesàro convergence of sequences of fuzzy numbers*, *Appl. Math. Lett.* **25** (2012), 676–681. <https://doi.org/10.1016/j.aml.2011.09.002>
- [16] Ö. Talo and F. Başar, *On the slowly decreasing sequences of fuzzy numbers*, *Abstr. Appl. Anal.* **2013** (2013), 1–7. <https://doi.org/10.1155/2013/891986>
- [17] Ö. Talo and F. Başar, *Quasilinearity of the classical sets of sequences of fuzzy numbers and some related results*, *Taiwanese J. Math.* **14**(5) (2010), 1799–1819. <https://doi.org/10.11650/twjmath/1500406017>
- [18] Ö. Talo and F. Başar, *Certain spaces of sequences of fuzzy numbers defined by a modulus function*, *Demonstr. Math.* **43**(1) (2010), 139–149. <https://doi.org/10.1515/dema-2010-0114>
- [19] Ö. Talo and F. Başar, *Determination of the duals of classical sets of sequences of fuzzy numbers and related matrix transformations*, *Comput. Math. Appl.* **58** (2009), 717–733. <https://doi.org/10.1016/j.camwa.2009.05.002>
- [20] Ö. Talo, F. Başar, *On the space bv_p of sequences of p -bounded variation of fuzzy numbers*, *Acta Math. Sin. (Engl. Ser.)* **24**(7) (2008), 1205–1212. <https://doi.org/10.1007/s10114-007-6552-7>
- [21] B. C. Tripathy and S. Debnath, *On generalized difference sequence spaces of fuzzy numbers*, *Acta Scientiarum. Technology* **35** (2013), 117–121. <https://doi.org/10.4025/actascitechnol.v35i1.15566>
- [22] B. C. Tripathy, A. Baruah, M. Et and M. Gungor, *On almost statistical convergence of new type of generalized difference sequence of fuzzy numbers*, *Iran. J. Sci. Technol. Trans. A Sci.* **36** (2012), 147–155.
- [23] L. A. Zadeh, *Fuzzy sets*, *Information and Control* **8** (1965), 338–353. [https://doi.org/10.1016/S0019-9958\(65\)90241-X](https://doi.org/10.1016/S0019-9958(65)90241-X)

¹ESTUDIANTE DE DOCTORADO EN MATEMÁTICAS,
UNIVERSIDAD DE ANTIOQUIA,
MEDELLÍN, COLOMBIA
Email address: carlosgranadosortiz@outlook.es

²DEPARTMENT OF MATHEMATICS,
BIR BIKRAM MEMORIAL COLLEGE,
AGARTALA-799004, TRIPURA, INDIA
Email address: ajoykantidas@gmail.com

³DEPARTMENT OF MATHEMATICS,
TRIPURA UNIVERSITY,
AGARTALA, 799022, TRIPURA, INDIA
Email address: sumandas18842@gmail.com